XFeH (ZEHADFER)

ROFEE BT,
1) (@=3)+(2z+y)

ROFFEE BT,
1) (Ba+y)+(Tz+6y)

3) (3¢ —2b)+(4a —5b)

5) (Bz%—2zy +4y?) + (2x2 42y —dy?)

ROFEE BT,
1) (4 +3y)—(6x+2y)

(2)

(2)

(4)

6)

(2)

(5a —2b)+(2a —4b)

(22 —y)+(—3x+2y)

8a +(—4a +2b)

(—2ab+4bc —ca)+(3ab —bc +2ca)

(7a —3b)—(5a —6b)



ROFEE LB,

1) (Tx+2y)—(4x —y) (2) (4a—T7b)—(a —4b)
3) (br+4y)—(3z—"Ty) 4) (—4a—T70)—(—b—3a)
5) (br?—ay—2y? —(5x%+3zy +y?) 6) (5ab—bc+3ca)—(7ab+3ca —2bc)

RDFFEZ LRI,
(1) 2(3z—y) (2) —5(a+2b) 3) 3(2x—y+5)

(6] ROFEE LI,

(1) 7(2x—5y) 2) Bxr—y)x(=3)
3) 52a—b+1) n %(6x—3ry)

6) (4x2—2x+10)><<—%>



RDFFEZ LRI,
1) (4x+6y)=2

RDEEZ LRI,
1) (122 —4y)+4

3 (2r+6y—8)+2

[9] RDEHEE LgIw,
(1) (12a +4b)=-4

4) (2lm —14n)+(=7)

(7) (6a—150+9)+3

(2) (15@ —10b6 +5)=(—5)

2) (9a—15b)+(—3)

(4) (10x%—5z —20)+(—5)

(2) (6p+10g)+2 3) (12x—18y)=6

(5) (—18a%*—27a)+(—9)

6) (322%+48y?) =16

(8) (42x+63y—7)=(—=7)

(9) (64a*—40a —88)+8



ROFEE LRI,

0 (20x—12y)><<—%>
2

5) (Ba’+7a—9)—(a?-1)

7) (6x%—2x—5)4+Bzx’+z—1)

ROFFEZ LRIV,
1) Bzx+4+y)+3x—2)

(3) 4(2a +b)—3(3a+0b)

2) 2(5a*+3a—1)

4) (5r?—z)+(x®+2r—3)

6) (2m+6n+4)—(3m +8n —5)

(2) 4a—2b)+2(2a+3b)

(4) 6z —2y)— 34z — 3y)



ROFEE LEI,
(1) 5(2x —5y)— 6z — 3y)

3) 2(2a+4b)+4(a —3b +4)

5) 3x—4y—5)+22x+3y+1)

ROFEE LI,

x—4dy +3y
e S
x—3y  x+2%

(3)

R

(2) —8m +2n)+72m +3n)

4) 5a*—3a+4)—72a*+3)

6) 4(2a*+4a —2)—5@?*+3a —2)

a+2b B 2a — 3b
3 6

(2)



ROFEE LEI,

(1)

8x +5(2x + 3y)

29m —3n)+(—5m +7Tn)

3(@ —5b)+5(2a —3b)

5(3a —7b)—"7(a —5b)

(x?—Tx+2)+4(3x%+82—7)

ROFEE LI,

(1)

3z + 5y + 2z —Ty

4 8 @)

(2) —4(6a —b)+ 25a

(4) 3(2r+5y)+2(4r —y)

6) 2(—5r+y)—42x+y)

8) —3(p—2q)+6(2p +5q)

(10) 7(4a*+5ab —2b%) —2(56°—3a?)

—2b  2a+b 2
woB_Zedh g EEW gy




